4 3 v 2 1

CLOPAY MODEL 3200: 24 GA. EXTERIOR STEEL SKIN REVISIONS
: UP TO 24'2"W x 18°0"H MAXIMUM
CLOPAY MODEL 3220: 20 GA. EXTERIOR STEEL SKIN REV. NO| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
HOLMES MODEL 240/240G: 24 GA. EXTERIOR STEEL SKIN
03 - 02/2012 - - UPDATED WINDCODE CHART
(1) 20 GA. X 2" GALV. STEEL BACKER PLATE
AT EACH INTERMEDIATE HINGE LOCATION. OPTIONAL 24" x 8" DSB GLASS, INSULATED GLASS
BACKER PLATE ATTACHED WITH DOUBLE SIDED U-BAR SEE SECTION A-A OR ACRYLIC w.ﬁgow Lm.;G ¢
ACRYLIC ADHESIVE TO BACK OF DOOR. FOR DETAILS VIEW ‘B’
remm A /_ ADJUSTABLE TOP ROLLER BRACKETS
e C-CHANNEL — SEE SECTION A-A FOR DETALS
ﬂ Y ‘ﬂ\ Vi 74 Vi Y Y . _ OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT)
1EAg¥|ERs|TSE) 16 GA. MIN. GALV. STEEL DOUBLE END STILE
{ y 0 OPTIONAL ACRYLIC GLAZING IS PLASKOLITE OPTIX, AN APPROVED (
~ CC2 PLASTIC IN COMPLANCE WITH FBC / IBC 2606. sty
# 7% # # # 4 # # # ’ # # OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE LJ AM B CO N l-_l G U R ATl O N
A i (1/8" DSB OR 1/8" ACRYLIC). FULL VISION SECTIONS TO HAVE SAME ‘L |
. , 2 p— , » REINFORCEMENT AS OTHER SECTIONS EXCEPT AS NOTED. =
v INSIDE_SLIDE BOLT
a WO SLIDE BOLT LOCK
&V'EW A & POINT ENGAGES INTO VERTICAL
(MIN) TRACK. ONE LOCK ON SEE JAMB 14 GA. GALV. STEEL CENTER HINGE FASTENED TO
............................................................................... . n LOGKING EACH SIDE OF DOOR. ATTACHMENT INSIDE SKIN W/(4) #14x5/8" SHEET METAL SCREWS.
i v v v o v REQUIRED ILLUSTRATIONS (VIEW *B")
B B _ ADETAILS,
: gmgggHggg%Eg%ﬁ O(FZ'I)'IONAL ' 7/16° PUSHNUT INSTALLED ON ROLLER SHAFT
- THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
1 FULL VISION SECTIONS HAVE (9) WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
/ ‘1° STRAPS PER SECTION. OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO END STILES
¢5) CENTER HINGES PER SECTION —-mm= A IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS W/(4) #14x5/8" SHEET METAL SCREWS AND (2) 1/4"x3/4"
3 ROLLER CARRIER PART REGIONS (FBC / IBC CHAPTER 16). SELF TAPPING SCREWS. (VIEW "A”)
MAX. DOOR WIDTH 24'—2" 0120394. MOUNT WITH .
~1 6" C—CHANNEL 2§w Far e h il 3 STEEL LONG STEM ROLLER

M% HORIZONTAL TRACK SUPPORT BY S ECT' O N B _ B

ATTACH THE 6" x 2—1/4"x 12 GA. STEEL DOOR INSTALLER (TO SUIT)
REINFORCING PLATE TO THE UNDERSIDE OF THE

C—CHANNEL WITH (4) 1/4"x3/4"
SELF TAPPING SCREWS AT THESE LOCATIONS.

(4) #14x5/8” SHEET
METAL SCREWS

(2) 1/4"x3/4" SELF 3" GALV. TAPERED STEEL TRACK AND ANGLE SILICONE FILLED CHANNEL SEPARATES
TAPPING SCREWS DOOR HEIGHT "A’ Ngéﬂgrl'lnggF TRACK THICKNESS: .1017. ANGLE THICKNESS: .080" FRONT AND BACK SKIN OF DOOR
14 GA. END HIN 14 GA. INTERMEDIATE HIN 5" VERTICAL/HORIZONTAL TRACK . 1.95” THICK, 1# DENSITY »
VIEW "A” VIEW "B” g,P_ 3T9 T?'RL? T0—o" g' [S—JGNCTION. TWO 1/4” BOLTS | ‘F‘*RO,:‘AE‘,L'S‘?MMSS,’:%',T@ EXPANDED POLYSTYRENE _| |_2 THICK 3% TALL x 20 GA. GALV. STEEL U—BAR. ATTACHED ONE AT THE
10-3" THRU 12-0° 1 6 5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION FOAM INSULATION LAMINATED o TOP OF EACH SECTION EACH U—BAR ATTACHED WITH (2)
TR T 8 1 TO BOTF:N_IE:E;%QFIQOSKmSD 5:» 1/4"x3/4" SELF TAPPING SCREWS AT EACH BACKER PLATE & 4
14—3" THRU 16 —-0" 8 @ \ ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS . SCREWS ON EACH END STILE
16-3" THRU 180" | 9 8 T=% OVER 707 HGH SPAGED AT 12 CENTERS. 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
" TRACK CONFIGURATION ATTACHED w)(4) #14x5/8" SHEET METAL SCREWS. ADJUSTABLE
= ONE %" TRACK BOLT AND NUT SLIDE ATTACHED TO TOP BRACKET WITH (2) 1/4"x1/2” BOLTS AND
s 1 AT EACH MOUNTING. SLOT = NUTS PER BRACKET. (2 BRACKETS PER SIDE)
I LOCATION.
g 1-1/4" WIDE MIN. x 16 GA. GALV. STEEL STRAP. EACH
THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE 2 g TONGUE AND STRAP ATTACHED W/(3) 1/4°x3/4" SELF TAPPING
ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA S a e GROOVE JOINTS SCREWS (TWO TO DOOR, ONE TO C—CHANNEL).
BUILDING CODE OR THE INTERNATIONAL BUILDING CODE (BASED ON 50" 85" . .
ASCE7-10) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED 9'—0" [100” ONE 5/16" x 1-5/8" LAG SCREW 6° X 2-%" X 12 GA. STEEL PLATE. SEE VIEW “E*
) ; . oy SPACED AT THE SAME DISTANCES AS THE
BUILDING, 2) DOOR HAS 2’ OF WIDTH IN BUILDING’S END ZONE, 3) EVERY 12 o-07 lg" TRACK BOLTS (LE. 3-1/2", 10", AND
ANS1 OASHA 106 SITE- SHEOTG GALEULITIONG. BY- A QUALIFED ssoTe0  EMERY 12 ALSO THO LAG SCREWS e
. - L 10" —o 172" LOCATED ABOVE VERTICAL/HORIZONTAL g —
DESIGN PROFESSIONAL MAY DIFFER. 10 T TRACK JUNCTION. /! 14 GA. GALV. STEEL ROLLER O Tl O CHANNEL
TR 7—071196" 24 GA. MIN. EXTERIOR STEEL HINGE. (SEE VIEW A) MIN YIELD STRENGTH SOKSI
ULTIMATE WIND 125 130 140 145 160 iy 8—01208 o .
SPEED (MPH) WITH GALV. &POLYESTER FINISH ONE 6" TALL, 16 GA. C—CHANNEL PER DOOR SECTION. —6"
27 GA. MIN. INTERIOR STEEL SKIN (1) 1/47x3/4 SELF TAPPING SCREW PER END STILE AND
EXPOSURE 3. C 0|5 oCoD| B C B, C 5 WITH GALV. & POLYESTER FINISH BACKER PLATE LOCATION. (SEE VIEW "C") 2-1/2"
CATEGORY
MEAN ROOF HEIGHT| 25 15’ 25’ 15 30 5/8™—
12 GA. GALV. STEEL BOTTOM BRACKET. ATTACHED
NOTE: THE DESIGN OF THE SUPPORTING WITH (4) #14x5/8" SHEET METAL SCREWS.
ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY DESIGN ENGINEER: MARK WESTERFIELD, P.E.
ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. SEILTDI-IEGPSgF?EISQTA[IJ_RSFAﬁgﬁgRgczggD%%E FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513
DESIGN LOADS: +25.0, —25.0 PSF MANUFACTURING PRODUCT CODE:
WOOD JAMB ON CONCRETE CONCRETE._JAMBS ALUMINUM EXTRUSION & VINYL WEATHERSTRIP. " "
py— L MBS SIEEL JAMBS WOOD JAMBS WITH CURRENT BUILDING CODES FOR THE LOADS SECTION A—A (SIDE VIEW TEST LOADS: +37.5, —37.5 PSF MPC: C—DSIE-1F 447
CONCRETE CONGRETE e M- ST JEu-1/r N LISTED ON THIS DRAWING. SECTION A-A (SIDE VIEW)
3/8" DIA. x 1-1/2" EMBED . | o3 /40 1-1/8 WASHER REQD. Unless Stated Otherwise - 8585 Duke Boulevard CLOPAY WINDLOAD RATING
w;i s_lsslﬁxgl_gnm 15/‘; Eg_gz/l.zF—%l\';'PlNc MAY BgDEAa(_FEflu.ED ;éf;‘%tpms 20 ax oc. 1o SID e S/ WAY BE BACK= TOLERANCES are nln ay Mason, OH 45040 USA
11" MAX. O. CONCRETE ANCHOR. g@ﬁﬁ#ﬁ@%{&'} SCREW. 16 4AMB TO WOOD STEEL B | [ ALIED W . Tel. No. 513-770-4800 \/\/ 4
%S:ZTE 'II':E!: E:M:D L, 1 B3 pe. O SEGURE N I SEEDED. R ey 0 = +.031 Building Products Company Fax No. 513-770-4853
/ 3 MIN. EDGE DIST. ERL STEEL Ake E LonG 0-88 = I-gég DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 24'—2"
) ’ WELD (EBOX CLOPAY CORP. . = %, - - -
Eﬂﬂﬁﬁﬁg’%}m / :;2:“:; ::(:.i:i:a . on ELECTRODE MIN). WELD ALL RIGHTS RESERVED. 0000 = .001 DRAWN BY: BFA DATE: 11/08/04 SCALE: NONE  [pDW@.
ONE_5/16°1-5/8" LG. LAG REVERSE OR CONTINUOUS REVERSE OR CONTINUOUS 5/18"x1-5/8" L O EAT 24 tack 412 GA. GALV. REVERSE - Degrees = +1/2 CHECKED BY: - DATE: — SHEET 1 OF 1 |SIZE
(s!(.:IP Logi% g; CKET OR TRACK ANGLE Ngbwggzé%?( ANGLE MOUNT TRACK scn;zw PER BRACKET R TRAOK WELD TOE OF ANGLE AT %UOON.'II_'IR'%?(USF‘@NTENLED Th'r‘d Apgle Unless Stated Otherwise
: 70 CONGRETE. oo e CUP LocaTo SAME. SPAGING. DIRECTLY T0 STEEL JAMB Projection DIMENSIONS ARE IN INCHES.|DWG. NO.: 103334 VER: IBC

3 » 2 1
FLORIDA PRODUCT APPROVAL 5678

4




